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9] 9571 50.24 cm T, o] Y0 WA 52| DolE oA L.

AE) = (95F) +3.14+ 2
=50.24+3.14+ 2 = 8(cm)
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®)15.7m ® 314m
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wabA 1x3.14 x5 = 15.7(m) YUYtk
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= x3.14

2] 2)%3.14 = 25.12

(BF2] )= 25.12 + 3.14 = 8(cm)
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12x 12 x 3.14 x == 75.36( cm?)
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21524o] | ¥tz Fed o] oq=F Yool
8cm 4cm @ ©
14 cm 7 cm 43.96 cm ©
@ @) 75.36 cm | 452.16 cm?
> & cm
» = cm?
> = cm?
| = cm
> E: cm
[> HEel 25.12cm
> Heh D 50.24 cm?
[> ®gh. 153.86cm?
[> Heh: 24cm
> HE! 12em
2159do] | vtz &g o] 4= dolE o]
8 cm 4cm 25.12cm | 50.24 cm?
14 cm 7 cm 43.96 cm | 153.86 cm?
24 cm 12 cm 75.36 cm | 452.16 cm?
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ZZ47F 2= A E 2 emYY7R?

> £ cm
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[> HED 1884cm

1
40X 2x 3.14 x 75 = 1884( cm)
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65 x 3.14 = 204.1(cm) ©| 2.2
510.25 + 204.1 = 2.5(8H) 235U
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20x3.14x1+8x3.14x1+6x2

= 15.7+ 6.28 4+ 12
= 33.98( cm)
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Ox3.14-0O0x3=4.2
O0x0.14 =42
0 = 30(cm)




g @R o] Hhz]Fo] 20em?l ¥F 470E vhe 1At o] Fog
Ut ] dol= duh Hejof sh=A] oA L. (F, Fe F

Az K

it
o
B

-i

\VARR 4
N
m

0
i)

f. 285.6cm

“40cm”
(Ed) = (BAAZ Y =) + (E5F)
= (40 x 4) 4 (40 x 3.14)
=160 + 125.6
= 285.6( cm)




13. the-2 9ol | o ezt =FYY o] =32 Wolzt 5768 cm?
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26.84 cm

[ Jx[ Jx3.14x Z = 37.68
[ Jx[ ]x2.355 = 37.68

[ Jx[ ]=37.68+2355
DXI:’: 16

D: 4cm

=i <4><2><3.14><§1)+4+4

X

= 18.84 4 8 = 26.84( cm)
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:1x1x3.14x§x2+3><2

=3.14+6 = 9.14(cm?)
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wabA | AE|AE 24 + 124+ 12 + 84 8 = 64(7H) T3t
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21. 7159 BHolE T L.

3cny

D

(F7159 2Hol) = (3 B Hol) x2+ (1 Hol)
=(3x3x%x3.14)x2+ (6x3.14) x 8
= 56.52 + 150.72 = 207.24( cm?)




@D 2x2x3.14 x4 = 50.24(cm?)

@ 1.5x1.5x3.14 x5 = 35.325(cm?)
® 2x2x3.14 x5 = 62.8(cm?)

@ 2x2x3.14x6 = 75.36(cm?)

® 2.5%x2.5x3.14 x 3 = 58.875(cm?)
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7150 wia e Zol2 [ Jemet ot

(F)=[ |x[ |x3.14x6 = 1205.76
205.76 ~ 6 + 3.14 = 64
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A2otE 4k

— 360° - (120° +30° +30°) = 180°

ZAA| MY S= (80 + 40) x 2 = 240('F)
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